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>>r =1.2,a = 1,S="sample’
r = 1.2000
a=1

S = sample

>> text="This is a %s, r=%f and a=%d’

text = This is a %s, r=%f and a=%d;

>> TEXT=sprintf(text,S,r,a)

TEXT = This is a sample, r=1.200000 and a=1
>> disp(TEXT)

This is a sample, r=1.200000 and a=1
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>> r=1.2;a=1;S="sample’;

>> text="This is a %s, r=%f and a=%d
>> TEXT=(text,S,r,a);

>> disp(TEXT)

This is a sample, r=1.200000 and a=1
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C = cos(A)
C =loga(A)
C = exp(A)
C = abs(A)
C = sqrt(A)
ones(m,n)
zeros(m,n)
eye(n)
tril(A)
triu(A)
C=(A>0)
size(A)
size(A, 1)
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find(A)
4] = find(A)
det(A)
rank(A)
trace(A)
null(A)
eig(A)

S = svd(A)

norm(A)
cond(A)
inv(A)
logm(A)
sqrtm(A)
chol(A)
Prod(x,dim)
Sumsq(x, dim)
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>> for n=[1:10]

>> for m =[1:10]

>>if(n==m)

>> A(n,m) = 1;

>> else A(n,m) = 0;

>> end

>> end

>> end
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O0O00Octave O OO
>> function D0 000000 =000000000 (OOOOO)
00000000 =000000; end

O 10 somme(a,b) =a+b

>> function resultat = somme(a,b)
resultat = a + b;
end

020me(V)=[VOOO,vOOO)]

>> function[m,e] = me(V)
m = mean(V);

if (nargout == 2)

e = std(V);end

retun



1 n=1

0 30 fact(n) = {n' 0000

>> function fn = fact(n);
if(ln<=1),fn=1;

elsefn =nx* fact(n — 1);
end

O 40 trisin(a, b, c) = sin(a) - sin(b) - sin(c)

>> trisin = inline('sin(a) * sin(b) * sin(c)’);
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fopen a=fopen('file.txt’,’w+’) filetxt 0 w+OOOOOO
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clf; hold on
subplot(3,2,1)
plot(cumsum(rand(1,100))./[1:100],’r-")
title( "plot’ )

subplot(3,2,2)
plot(rand(1,10),rand(1,10),’0’)
title( 'plot’ )

subplot(3,2,3)

V = rand(1,10);

bar([0:9],V)

title( "bar’ )

subplot(3,2,4)

stairs([0:9],V)

title( ’stairs’ )

subplot(3,2,5)
fplot(’[sin(x),cos(x)]’,[-2*pi, 2*pi] )
title( *fplot’ )

subplot(3,2,6)
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V = [-2*pi:.1:2%pi];
plot(V,sin(V),’b-",V,cos(V),’r-")
title( 'plot’ )
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clf; hold on;

ine1
ine 2

plot(cumsum(rand(1,100))./[1:100],’r-")
plot(ones(1,100)/2,’b-")

title( *Graph’ )
xlabel( 'x’ )
ylabel( ’y’ )

legend( ’line 1’,’line2’ )
legend( ’line 1’,line 2’ )
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clf ;
V = rand(1,100);
subplot(2,2,1)
hist(V)
title( “hist(V)’ )
subplot(2,2,2)
histo(V)
title( “histo(V)’)
subplot(2,2,3)
histo(V,10,1,1)
title( “histo(V,10,1,1)" )
subplot(2,2,4)
histo(V,10,0,1)
title( ’histo(V,10,0,1)" )
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